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. 1 Runde | 2 Runde | 3 Runde ] 4 Runde gesamt
> Ui PR gegen| Nettolgegen| Nettolgegen| Nettolgegen| Netto] Netto |Siege Rang
1 S|{11Y| 3] X]|10]W]| 3
X 12| 5| 2
Jever PC 212 |1 5| U|[-13 -6
S 1fR|1]z|2]Y|[1]x]|s 3| 3|8
SGTeutoniaErte | 2| T [ 6| VU |-7]V|[S|W|-T
1 U| 8|V I|12IW]|12] X | -11
U 10| 4] 3
Schwalbe 2| s|6|R|5|Z|8]|Y|-4
1 T 8IW|12]1 X |12] Y | 8
o 68| 8 | 1
Uschies 2 \) 4 S 7 R|13]| 2 4
V 1TIW | 4] T |12 Y |-11] Z 6 9 4 5
moepiren 1 2| U [ 4| x| 7]|s|5|R|[6|
W 1lv|4]lu|-12|T|[12|R|-3 sl3l6
AT 2| x|s|ly|s|lz|7]s|1n]
1 Y |10 Z | 9] R|[-10] S | -8
A 421219
MURMELTIERE 2IW [ 31V |-7JU|12]1T/| 11
Y 1 X|1O0]J R|-3]S|([M11|T| 4 9 4 4
Oldenbouler 21 Z (8IW|-8]QV | 1M]JU|-8
Z 1 R|- 1] S| 2| W|-7]V ]| -6 17 3
BG Bremen 21 Y (8| X9} T|-8]U|-4 7




